Answers to Selected Exercises AA7
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Check Point Exercises

1. women: $57,989; men: $72,026 2. by 50 years after 1969, or in 2019 3. 300 min 4. $1200 5. $3150 at 9%; $1850 at 11%
. L2l
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7. w=
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Exercise Set 1.3

5 2.7 3.25 4.4 5120 6.140 7.320 8360 9. 19and45 10. 17 and 41 1.2 25 13. 8

s 2 15. all real numbers 1651 7S 18..=9 19. radio: 974 hr; TV: 1555 hr 20. Americans: 3.9 weeks; Italians: 7.9 weeks

21. carpenters: $35,580; computer programmers: $63,420  22. janitors: $19,390; registered nurses: $54,670 ~ 23. by 38 years after 1983, or in 2021
24. by 30 years after 1986, or in 2016

25. a. y = 24,000 — 3000x b. after 5 years 26. a. y = 45,000 — 5000x b. after 7 years
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after 5 months; $165 28. 10 rentals; $90 29. 30 times 30. 20 times 31. a. 2014; 22,300 students
Y1 = 13,300 + 1000x; y, = 26,800 — 500x 32. 2025;9,900,000 33. $420 34. 344 35. $150 36. $240 37. $467.20 38. $12
39. $2000 at 6%; $5000 at 8% 40. $5000 at 5%; $6000 at 8% 41. $6000 at 12%; $2000 at a 5% loss 42, $7000 at 14%; $5000 at a 6% loss
50 yd by 100 yd 44. 40 ft by 120 ft 45. 36 ft by 78 ft 46. 23 m by 40 m 47. 2in. 48. 6 ft 49. 11 hr 50. 17 hr
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